EMR-/UBEK-/\BER-FHAXK  SF6E108 SFMRIIR (h2HE$1] No.1

1K) 2B0K) 3H(K)

s M4 =(@| |#izs ME4 =(@| |#uzs ME4 =@
ZBRCK) 100 s ARCK) 80 ZHRCK) 100
EED 206 L 206 43 206
B LLeE754 (FEE)[ 40 R (RS5AR) 42 R (ETY) 28

5 LiEITH 4] |p g |[EERE 70 RYFE 9.8

5L, /V:T:')*E 4.2 b S ECYT 42

4«6 ;i%iﬁ 0.7 Y [CehE 56

t Y gyl (CLKB) 49| | B [EFERE 42
B [I2CACA 14

L3 FL 1.3 A [BRFE 14
-'Ehlf:b\t;iﬁtf 325 MEIEA 100 Y |34 H 2.8

g doE 195 | L\ [CRIDEEFSEIY) | 7| | B (S5 35

,,}\%*faa;‘m 1.3 o Bz 14 F (L& (SLEE) 2.8

% @%’E; 0.26 ¢ L5 (59<KH) 4.9 & |LLOWP (5F<KBH) 42

o)L,otoHD(:L\%) 0.65 5 WY (ZLE) 28 15 0.14
—REEEF 0.01 e CAS(FELA) 0.42

] A 1K 161 F|EXRY 56

BT 28 15 0.14| |z v |[AVELOHL 7

D A A 7 wAR| Y54 1.12

# Ledhs 0.7 LodFL 28| |y [EASR—TDEHE | 042

z fFERE 14 (7 |[DRZE 28| | * &L (CSLE) 2.1

5 [FrroH4 14l || [FeRY 35| |~ L|ERLPA 0.21

W EEZAD 2| |EBTFZ—EFG) 42| B &O(TFim 0.42

5 [RHZ(H) 42| |V [YSHH 07| |®L

J [EaZ 42| |F DL (CLE) 028 %

2 BASX—TNEHE | 1.68] |1 |iE 0.14] |4 H)WbLO#HYAFL] 35

ES 140| [ [ECL&£S 001} fi W
> il w7
—BR)L—R 50 :Fl’
l/0)

AH(%) 4H(%E)

v M4 =(g) B M4 =(g) B ME4 =
FEHEIuRNAVONER] 80 HDAYAUNES ) 7
42 206 9 |=FERE 56

R [I[ZALCA 14

C&)S—hkHR—IL 56 AEELY 42
S=FhRFE 28 R [Fovrz—TFndE | 21
| [F=F@EODE 35 Z K 133

_ MA=UvHAS5F— Toor| | | [ 0.21

,T7|-; F—J@ 0.7 7 [EILLS 0.03

5 | [FRFEFryT 56

g)lx R #E 1.12

903‘/—74 1.12

s FasuAR—Tm+E | 0.28

X 4> (Fr) 1.12

=" 0.28

&Kk 7
A1 0.07
AFEILES 0.01
Cohg 42
<—AHU2 GRER) 0.7
42 (GAER) 9.1

E@TERVED 14

PP/ 2.8

v & 0.14

a3 [FECLES 0.01

7__

k

BH1X 1




ENR-/UBERR-/\EER-FHAR  SF6EFE108 SEMEk IR (%R E$ 1] No2

7H(A) 7H(A) 8H(X)

BB M4 =(@| |#izs ME4 =(@| |#uzs ME4 =@
ZBRCK) 100 EkAEDY)E 12 ZHRCK) 100
4E 206] [ [Sqr7oTnZUmE| 36 43 206

Yo | ®AITILE— 36
REUOEA 21| |7 +F R (RS54 R) 14
AH=UyH/x958— 001 |R3 CR)AXRSL 14
HS54H 14 |7 % f-Eh=F 42
LRILRSyHZRE—U X 421 ILS IZALA 21
Cong 28| || =T DKE 14
~FhE 70| |V <& 84
IZACA 14 I\ %(BH’(Z%’(X) 2.1
YAZ 7 —BvXAvrELEESRE] 133 = HiaZE 14
L ELAES 14 % [P35 2.8
E [N NEH 8.4 L& (SLKBH) 4.62
| TAL—8% 1.12 ThA 28
v |x=AULGRER) | 84 K 5.6
A (&t 37 0.42
h [FRETFFruT 4.2 = 0.24
L [Vy—R 2.1 FECLES 0.03
| LS (CLKEB) 2.1

S [aVIAR—TDEE 1.4 (M) a—<A 36

A4 |42 GFR) 14 7~>

Z [a—LL 0.01 42

7K 28 I

15 0.07
o WY (B AY) 7.2
ML L\Uj(_\El_ 48
5o |54 0.24
& & |RbEE 1.56
KX HY A 0.36
‘;% L&S5P (CLKE) 0.6
9H(K) 108 (K)

B4 M4 =(@)| |#uis M4 =(@)| |#uis M4 =(g)
ZBRCK) 100 CERCK) 100
N 206 ) 206
(A EELAN—E@BT| 585 BA(RTAR) 28

;{ L[CE5# 0.65 BLen 112

o R FryT 7.8 Alf=-FhE 42

v | B 26 ElIZALA 21

JplY=2A 585| |& L[RCAlIZeL 28

= [K 13| | *[CR)SPVAITFA 7

ENYSEH 28
IZALA 12 W =B 5.6

= [MEE 24 | b[LESHEIKE) | 98

A ESHBEL 12 )

Y B[USH ] 1.2

o TH=UvDR95— | 001 —Bi#=E 40

~ Vi 0.12| | M |[—BADEH 1

N ENS) 0.01 2 |[—BLLSW 3
R—> 13 TRy 35

L Cohg 39 3L 28
y -Fh=E 455 bILERH 0.56

X IZALA 13 PILLIW (ELKE) 14

= [x=HU L GAER) | 26] (PL

5‘; LYAR 13| [m &

= [EREIIL 52| Y ¥

;t aVVAR—TDEHE | 1.56] |F0 B

2 7K 33| (AN

ES 0.13 Y
- FECLES 0.03 1))

Bith[X2




EMR-/UBEK-/\BER-FHAXK  SF6E108 SFMRIIR (h2KEH1] Nod

11BE(®E) 158 () 158 ()

Bis M4 =(@| |#izs ME4 =(@| |#uzs ME4 =@
ZBRCK) 100 ZBRCEK) 100 BRR(RSALR) 21
4E 206 &3 206 1IZACA 21

" FrRY 49
BKUOEA 28 HYDAE 26 = [ EShATSHvn) | 28
L&A 0.7 IZACA 13 g Rl 7
H—=1vH/895— | 0.01 ES 13 c L& (59<H) 2.1
HS4 2.1 B SPWVWAITFA 5.2 % 1558 42

= |G EE 154 FLLWM-IF(2FR) | 065 s [CASGLA) 0.42

J;‘,; -EhE 42 #F[EELA [ osE (FELA) 1.82

A IZALA 21 N {LESA 0.39 7K 126

Yy eI DIKE 14| | & [HS4H 1.3 18 0.14

th A FShAZES k)| 14 L [=B%E 0.23

%= EBIF(RTALR) 14 B 0.23

& R HE 2.1 L&KW (CLKE) 1.17

= |L&OWP (SLE) 8.4 & 0.04

= |TAH 14 7K
K 2.8
CEi 0.7 = /) Emon 60
1= 0.21 ,f:

3
TRy 24 R
ES3ELACL(R—IL)E] 12

N |FEIFEEH 6

v [FTYSE 3.6

o |ZFH 0.36

v |RbEE 0.72

A |BE 144

I LS (CdE) 2.16

= 0.12

—B87—FE R Z ] 10
16 H(K) 16 H(K) 178B(K)

v MEE =(g) B2 ME4 =@ B4 ME 4 £(@
JHECARCE) 80 /) ¥a—4 36 CERCK) 100
Lk 206 Bt | 9S4 H 0.7 43 206
—BbHhrHSYMT | 25 =1

*x CA)SAZE 50
HA 35 3 L L&5H 25
BA(RSAR) 21] | | ; S[ZE% 44
CRIAEXSL 14 Vi 5 AE 24
=ERE 35 NE|BYA 24
[TALA 14 2= D|LESW (SLKE) 10

i FrY 70 =K 15

5 B 14

e b\aa’éﬁ 28 IZALA 14

4 |24 28 s AR 42
L&30 (CLKB) 238 U*’A CR)ARSD 14
Y—R 35 -5 R A 0.84
1B 0.14 Co L& (CLKBH) 35
FEFILED 0.03 K 7

HEIEA 42

=N A 30 ER(ETY) 7
<[E33BSLGER—IL)E| 18 f-FERE 42
WEYSE 3.6 (TS 21

ﬂ:*f%@“;‘ﬁ 1.68 2 |ATH 7

FAfEE 21 5 LS 59<E) 35

WL L& (59<H) 1.09 Z [CAASGELE) 0.42

5:‘15 0.08 7 M OBE (FZLE) 1.82

P 1 [k 133

., 15 0.28
1)

B[ X3




EMR-/UBEK-/\BER-FHAXK  SF6E108 SFMRIIR (b4 E# 1] Nod
18H (%) 18H (%) 218(A)

s M4 =(@| |#izs ME4 =(@| |#uzs ME4 =@
ZBRCK) 100 CGBYWWhLI=ZAR—IL| 42 SAZEINUNER) 70
43 206| | (| [ERE 49 4% 206

H INAZE 21 —BAHAIATY L 20
ER(CETN) 14 L HhE 7
HBIT 7 FLLWV-H(2F) 0.7 B OY-MSEIFE)| 60
IZALA 14 7 L& (59<H) 3.64 s 0.3
FLLLV-H(2F2) 0.7 o ASELR) 042| |%F [[ECL&LS 0.02

= 3 ELA e M OEE (FZLEH) 182 | [¥35H 0.5

= RS AIZeL 14 * 7K 126 Q?L‘;Mft\% 24

Et LRILRELE (BvR) | 14 L 1= 0.14 /b#ﬂw&‘v 24
D HE 1.12 ; a0 0.12

A {]’ by > —

A 1.12 )bo)j")—j;EE 1.2

HYA 0.56 Yoy =aAr—X | 144

L&S (CLKE) 224 | [ ETEFT 1.2

L& (59<H) 2.24 A O—X<!—/\945—| 0.01
15 0.12

0N 45 ECLES 0.02

R HE 1

pri 05

=i 1

7K 5

T 15 0.2

= LEVRECHHIET | 10

i Cohilrg 15

= IZALA 5

21H(AH) 22H(K) 238 (K)

v MEE =(g) B2 ME4 =@ B4 ME 4 £(@
THO=(YAAN) 4.2 ZERCK) 100 ZERCK) 100
15 0.04 L 206 &3, 206
R—> 14 —BXFAYUMIT 2.5
LRILRSYOZRE—V X 14 [ EERIE] 60
=FhE 421 |f= [L&SA 2 R EYY) 21

> {IzACA 14| [2 EL&LIW (SLKB) 3 Cohrg 56

T [FrRY 35| (= (XA 15 f-Fh= 42

2 [kxb 14| B D[TAH 10 [ZALA 21

D [F=EEYYE 14| (¥ B/ 6 HAybkLHL 14

z [ 14 7 MR 21

* [E33AZLGGR—IL)E 7 TRy 56 y ([S5H 14

z 1B 0.14| | B [EEAHDY 0.42 | [NEH 4.2

b H=YyHNHE— 0.01 F [LLIP (SLKB) 2.8 v |x—=AHY GRER) 4.2

A [#J)—Tmh 14 0 Y (&I GRER) 70

| [EASR—TDEE | 098] | = F [RIE®EL 56

T [K(EADOKTH) 63 a |k 5.6
TYIAG 0.01 =3 42 | 2oV Z2=—TntE | 1.76
INT)HINHH— 0.01 HHZ 21 BHRE 0.59
15 0.14 =Fh=E 28 7k 14
ECLES 0.03 IMNRE 14 15 0.18

T ERE 7 GECLES 0.03
o | XHF(H) 7
< WS (FLA) 2.8 TRy 56
@D |k 126 # [IZACA 7
#H | [Voxzv5<3x—=X | 56
z A [ FryT 21
it > |EE 1.4
T | 0.14
Z FEILES 0.01

Bith X 4




B /\BREX-/\BAEX-FHX

SH6FE10H MMk IR

(FEREF] Nob

24H(K) 25H (&) 28H(A)

s M4 =(@| |#izs ME4 =(@| |#uzs ME4 =@
ZBRCK) 100 INVUNER) 80 FrOyk/ o UMEE)|[ 70
4E 206 &3 206 43 206

—BF3aaXkEY)—L]| 10
B EVHRI (FHEL)| 49 R (RS54 R) 19.5

Z |TAH 14 IS5 570k —8—] 49 H—=1vH/895%— [0.03

U [NEH 21| |7 Vi E=FERFE 35 Y5450 1.95

7 (Bl 42| |F | [I2ACA 7 R KEXE 585

Z [LESA 042 ¥ E[¥yS55H 1.4 R [Cerlrd 52

n A 126 |V | [FRFTFYvT 7 | [FEh= 26

ETY T 154 |7 liiE 0.98 2 [IZACA 19.5

F [LESP (SLKEB) 252 [BD[U—X 1.82 E [CBFTIYE—X 6.5

% [HYA 1.26 | BEF—X 26

= [k 14 LRLRKEBVAIFAT] 42 v MM FYyT 13

~FhE 56 X V=& 6.5
ER(ETY) 14 <—HU2 GRER) 14 7K 13
=DFEL 56 42 GRAER) 84 15 0.13
IZALCA 21 B (BREEMEL 7 FECLES 0.03
WN\CA 42 Ly [k 7
CIFES 7 A [AVIAZ—T0HE | 168 B (HY-MoEIFR)| 50

S [&F 7 I+ [k 21 i 1

D [FLLWW=H(£EF) 0.7 REZ- RO 0.07 H—=Uvo/x)5— | 0.03

F |BELT 14 D (15 0.14 N EHE 3

AP A=) 7 R EILES 0.01 — |[FE5EHD 4
EHE 8.4 ] T
WYZ (FELE) 28 I 7
7K 112 o

#H |FHDA 75.2

H

A

28H(H) 29HCR) 30H (7K)

v MEE =(g) B2 ME4 =@ B4 ME 4 £(@
IZALCA 7 EIREK) 110 ZERCEK) 100
AW 56 L 206 &3, 206

7 ([YSAH 21 —BIEFSUhIT 3

v (& 21 & R 1595 50

7 LESW (SLKE) 1.4 ER(ATY) 30| |¥R[/)oTy5<waRr—X 3

L [LRLEEALYAS | 14 EHT 375 i"/’alwlﬁ—x“ 10

N 0.14 (R) AR SD 30| |13

R S) 0.01 Cehilrg 45| |2

Y B [[CALA 225 (g

D R [fZLCA 60| |[= 4

> B |CAlzeL 30

9 =B 45 =DFELE 70

+ e (N dh) 75 ?; i 0.01

Z K 23] |k o|lx—HY> GRER) 2.1

\I\
SACA % |4
T FIELIF(RSAR) 2.38
AL [FYSTE 42 BR (RS54 R) 7
Ub[H55H 1.4 2 49
S (Fl&YA 0.7 -FhF 14
~ E[LEIP (ELKB) 28| | 5 [[SALA 7
ZIc g XY 28
FA th G IFEShAZE3vh) | 14
AL % ELBIF(RTALR) 2.1
YA 2 AvkL&HL 14
- D | (L& (S <E) 2.1
-5 BASZA—TNDLE 14
% A0 25 CFiH 0.14
o 7K 119
> i5 0.28
ECLES 0.03

B[ X5




ERE-/WEEK-/\BERX-FHRK  SH6E108EMiLER (24 #1) No.b

31H(K) 31H(CK)
wie] _ MHA 8@ [mz= MHE 8@ [mz= MEE 10
—BRCKR) 100 —BCA) RA1—FKRTK| 35
4E 206
BKAE(XRZ51R) 26
L&5A 0.26
HS54 0.65
B 1.3
E [LeoR (CLKB) 2.6
E [EHRCoA 0.13
v 1Bl 39
N IFSNAZES 26
B (EbiE 0.26
E [LEI (SLKE) 1.95
A |ERLECPA 0.2
A | HSAH 0.65
PAECTT 39
R HE 1.3
15 0.13
BS54 1.95
EHT 42
=FhE 42
5 IZALCA 7
-ssjaifi7b7ﬁ‘&) 7
[ BRE 7
F e
Z %%75%3—7"0)%& 1.82
| 0)33:1:)‘\’"/ 0.98
— 7K 126
B 0.14
FECLES 0.03
R % ¥ A E@| [mzs HEA )| [mzz MEA F10)

Bit[X6




